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Name: __________________________________



1
The accompanying diagram shows the starting position of the spinner on a board game.

[image: image1.png]



How does this spinner appear after a 270° counterclockwise rotation about point P?

	1)
	[image: image2.png]




	2)
	[image: image3.png]




	3)
	[image: image4.png]




	4)
	[image: image5.png]






2
Which point shown in the graph below is the image of point P after a counterclockwise rotation of 90° about the origin?

[image: image6.png]



	1)
	A

	2)
	B

	3)
	C

	4)
	D



3
The coordinates of the vertices of [image: image7.png]MABC



  are [image: image8.png]


, [image: image9.png]B(-4,73)



, and [image: image10.png]


.  State the coordinates of [image: image11.png]MNA'BC



, the image of [image: image12.png]MABC



 after a rotation of 90º about the origin.  [The use of the set of axes below is optional.]

[image: image13.png]




4
The coordinates of the vertices of [image: image14.png]


 are [image: image15.png]R(-2,%)



, [image: image16.png]


, and [image: image17.png]


. Triangle [image: image18.png]


 is the image of [image: image19.png]


 after a rotation of 90° about the origin.  State the coordinates of the vertices of [image: image20.png]ARST



.  [The use of the set of axes below is optional.]

[image: image21.png]




5
The grid below shows [image: image22.png]MABC



 and [image: image23.png]MNDER



.

[image: image24.png]x
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Let [image: image25.png]MNA'BC



 be the image of [image: image26.png]MABC



 after a rotation about point A.  Determine and state the location of B' if the location of point C' is [image: image27.png]


.  Explain your answer.  Is [image: image28.png]MNDER



 congruent to [image: image29.png]MNA'BC



?  Explain your answer.
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3
REF:
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ANS:
1
REF:
081605geo

3
ANS:
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  [image: image31.png]


, [image: image32.png]


, and [image: image33.png]



REF:
081230ge

4
ANS:


[image: image34.png]R'(-3,-2)



, [image: image35.png]5'(—4,4)



, and [image: image36.png]T'(2,2)



.
REF:
011232ge

5
ANS:


[image: image37.png]ABC- point of reflection — (-y,x) + point of reflection
AZ-D- @29 = (0.0 > 0.0+ @-D=4@2-3)
B(6,-8)- (2-3) = (4,-5) > 5.9+ (@-)=B (71
o(2,-9) - (; 6) = (6,004 (2,-3) = C'(8,-3)

3)




   [image: image38.png]MADEF= AA'B'C



 because [image: image39.png]MNDER



 is a reflection of [image: image40.png]MNA'BC



 and reflections preserve distance.
REF:
081633geo

